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run_13071032_FGT_RMS_1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 11 15:18:11 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

160

140 =

120

100

80

60

40

20

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

200 [
=
180 f=—
=
160
140 =

120 f—

100

80 pP—

60 F—

40

20

0

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

140

100

80 [

60

40 [

20

0

[—
120 P

120
APV channel




run_13071032_FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Mar 11 15:15:49 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

000 3000 4000

raw ADC

[ADC f

for FGT RDO=1,ARM=2,APV=6 l

ADC-ped

=
15}

LI
0 1000 2000 3000 4000

raw ADC

[ADC f

o FGT RDO=LARM=2.APV=7 }

ADC-ped

3000 4000
raw ADC

0 1000

[ADC for FGT RDO=1,ARM=2,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=5 }
= 4000 pry
] =
& =
Q 3500 pF—--q---p-ecp i i b
< =
3000 PF—--1---t---f|-2----p------
=
EECl = ol R Rt b Ay
=
2000 fF—--q---p-cf ol maeeeepeaeee
=
1500 fF— - - -t eeefofr e g b eaes
1000 PF— - - -t e o] e
H 8
= 8
510 |E=ocoiloocpoodbdbagesos|locacas
= 2
= 8
o= = = =
H i
0 20
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=6 }
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—-
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=7 }
= 4000 p=
] =
oy =
Q 3500 f=—- -
% =
3000 = - -
=
2500 = - -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
o=
=
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=8 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=2,APV=9 l
= 4000
]
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel

.4 .. 4 .0 E..d e

10°

10°

10

10

10




run_13071032_FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13071032_FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Mar 11 15:18:13 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

g 220

e T
o

9 200 4
< =
P 180 H
H

o

160
140

120
100

80

60

40

20

SH1H ‘HI'IH'H'H:I'HH-HH- [ICERI

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

160

140

RMS (ADC-ped)

120

100

80

60

40

20

||||||1]|1I_||-+I-h Irr||||||||]111lll

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

160

T[TTITTT

140

RMS (ADC-ped)

I

120

100

80

60

40

20

S =COCECEEERENINI]

i
120
APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

140 ._

120 f—=

RMS (ADC-ped)

100
80
60 :
40 [

20

0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

160 f—

140 =

RMS (ADC-ped)

120
100
80
60
40 B

20

120
APV channel




run_13071032_FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Sun Mar 11 15:15:59 2012

[ADC for FGT RDO=1,ARM=3,APV=0 }

1
[ 1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=1 }

o ADC-ped

0.6f--

0.2~

1
0 1000 2000 3000

[ADC for FGT RDO=LARM=3,APV=2 }

4000
raw ADC

04f--

i
1000 2000 3000

ray

[ADC for FGT RDO=1,ARM=3,APV=3 }

4000
w ADC

1
0 1000 2000 3000

ADC for FGT RDO=1,ARM=3,APV=4 l

4000

raw ADC

0.2~

Il
0 1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=0_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=3,APV=1

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=2 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13071032_FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sun Mar 11 15:17:40 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel
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